
⑲ 2x2x + 9 = 7x7x − 1111⑱ 6 : x = 8 : 1212

⑳ 








3x3x + y = 1111

2x2x − y = 4

･････････①

･････････②

⑰ 
1
2
(3x3x + y) − 1

3
(2x2x − y)⑯ 7(2x2x − y) − 3(3x3x − 2y2y)

⑮ 
1
5
(35x35x35x − 10y10y10y)⑭   6(7a7a − 3b3b)⑬ 15a15a15a2b − 4ab4ab4ab % 2a2a

⑫ 24xy24xy24xy24xy2 + 8xy8xy8xy % 7y7y⑪ −4x4x % 9y9y⑩ 8x8x − 3y3y + 5x5x + 7y7y

⑨ −0.4 % 0.7⑧ − 6
7
+

9
1414

⑦ (− 4
7
) % (− 2121

1616
)

⑥ − 2
3
+ 3
4

⑤  9 − 3 % (−2)④ (−4848) + (−3)

③ −8 % 9② −5 − 6① −3 + 7

◆①～⑰の計算をせよ。また、⑱～⑳の比例式・方程式を解け。
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⑲ 11x11x11x − 7 = 8x8x + 5⑱ 5 : 3 = 8 : x

⑳ 








5x5x + y = 7

3x3x + y = 3

･････････①

･････････②
⑰ 

4x4x − y
3

−
3x3x − 2y2y

4
⑯ 5(4x4x − y) − 3(5x5x − 2y2y)

⑮ (45a45a45a − 9b9b) + (−9)
⑭  

3x3x − y
4
% (−2020)⑬ 18ab18ab18ab18ab − 12ab12ab12ab12ab2 + 3b3b

⑫ −36x36x36x2y + 4xy4xy4xy + 3x3x⑪ 18x18x18x2 + (−6x6x)⑩ 12x12x12x − 5y5y − 7x7x + 8y8y

⑨ (−4.8) + (−0.6)⑧ (− 5
6
) + (− 1515

8
)⑦ − 1515

1414
%
2121
1010

⑥ 
2
5
− 3
4

⑤ 1515 − 9 + (−3)④ 5454 + (−6)

③ (−1717) % (−3)② (−7) − (−2)① 3 − 1111

◆①～⑰の計算をせよ。また、⑱～⑳の比例式・方程式を解け。
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⑲ 8x8x + 5 = 12x12x12x − 1111⑱ 4 : 6 = x : 9

⑳ 








2x2x + y = 3

3x3x − y = 1717

･････････①

･････････②

⑰ 
1
3
(4x4x + y) − 1

5
(3x3x − 2y2y)⑯ 5(3x3x − 2y2y) − 4(2x2x + y)

⑮ (48x48x48x − 12y12y12y) % 1
6

⑭ −8(7a7a − 4b4b)⑬ 12a12a12a2b − 5ab5ab5ab % 3a3a

⑫ 63x63x63x2y + (−7xy7xy7xy) % 4y4y⑪ (−3x3x)2 % 4y4y⑩ 7x7x − 5y5y + 8x8x − 4y4y

⑨ −2.5 % 0.8⑧ − 1414
1515
+
2121
1010

⑦ (− 8
1515

) % (− 5
1212

)

⑥ − 2
3
+ 2
5

⑤ 1010 − 4 % (−2)④ (−7272) + (−6)

③ (−6) % (−7)② −8 − 6① −1212 + 7

◆①～⑰の計算をせよ。また、⑱～⑳の比例式・方程式を解け。
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⑲ 10x10x10x − 1111 = 13x13x13x − 2⑱ 8 : x = 6 : 9

⑳ 








3x3x − y = 5

2x2x − y = 2

･････････①

･････････②
⑰ 

7x7x − 3y3y
4

−
4x4x − y
3

⑯ 7(3x3x − 2y2y) − 4(2x2x − 3y3y)

⑮ (64a64a64a − 24b24b24b) + (−8)
⑭ 

5x5x − y
6
% 1818

⑬ 12ab12ab12ab12ab − 6ab6ab6ab2 + 2b2b

⑫ −56x56x56x2y + 8xy8xy8xy % 4x4x⑪ −27ab27ab27ab27ab + 9a9a⑩ 7x7x − 9y9y − 5x5x + 3y3y

⑨ (−2.4) + (−0.8)⑧ (− 1515
8
) + (− 9

4
)⑦ − 2020

2121
%
1414
1515

⑥ − 1
3
− 2
5

⑤ 2020 − 1212 + (−4)④ 4848 + (−6)

③ (−4) % (−7)② (−3) − (−8)① 4 − 1212

◆①～⑰の計算をせよ。また、⑱～⑳の比例式・方程式を解け。
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